ANSWER to Question #90662 — Math — Calculus
Question

Find the zeros of the polynomial function and state the multiplicity of each.

f(x) = 4(x + 7)2(x - 7)3

4, multiplicity 1; -7, multiplicity 3; 7, multiplicity 3
-7, multiplicity 3; 7, multiplicity 2
4, multiplicity 1; 7, multiplicity 1; -7, multiplicity 1
-7, multiplicity 2; 7, multiplicity 3
Solution
fx)=4(x+7)>(x-7)
f{(x)=0 =>x=-7,-7,7,7,7
here zeros are -7 and 7 .
-7 1s repeated 2 times and 7 is repeated 3 times hence multiplicity of zero -7 is 2 and multiplicity of zero 7 is
3.
Of the given options
-7, multiplicity 2; 7, multiplicity 3
is the correct option.

Answer: -7, multiplicity 2; 7, multiplicity 3.
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